BT (%8 £8H%)
i 81 £ 4 A 25H
e PN A exk JE— #

R0 E BB BNVE I e =

w wn s @

1 A
BEEEE 3,720,000 M
2 XM
F_ B | XME | Ek3XHOAR | @E |
! | BEENEMEEEE
‘p)’i_ T W % %‘ 763,346 %ﬁéﬁéé o -
! — - !
# & om woes m ITLLTTICEES
\r& W ORK @ % 866,362 M @gﬁg%gﬂ
|§§%ﬁ¢%%’%%% 124,937 [ ‘ILC@?&%%:WHK%% |
. RALERRREESS 0000
& —% % 158, 087 P:.l_ !%%Zjﬂuﬁ' M
B OB OfF R B 0o |
I - _
| o —
B OB OB A R 319,877 |3 BEOIREER
* 5 o or  nwn 3G
* % # 173,662 é;«;ﬁﬁéj AR gm0
A % # 45,000 M BERNFEEES
& gt 2,895,476 M ‘ |
3 BEBROH




